UNIT #1 KINEMATICS
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Projectiles

any object upon which the only force is gravity
horizontal and vertical motion are

INDEPENDENT

eacceleration due to
gravity

‘use the “big 5”
equations

*no horizontal forces
acting on projectile, so...
*NO horizontal
acceleration (uniform
motion v=d/t)
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Example #1
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Find the horizontal distance travelled by the

projectile shown.
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Example #2

a)Find the horizontal distance travelled by the
projectile shown.

I VERTICAL HORIZONTAL
a= dh=
= Vh:
Vly = 1=
szz

b)Find the impact velocity



Example #3

A plane flying horizontally at 75 m/s drops a
supply box when it is directly over a tower

250m below.

How far from the tower does the box
land?

What is its velocity when it hits the
ground?



